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QUESTION 1

Which two statements are true for the pre-defined resource pools in VMware Cloud on AWS? (Choose two.) 

A. Users are allowed to monitor and modify the resource allocation settings in the Mgmt-RsourcePool. 

B. The Mgmt-ResourcePool is able to utilize resources in subsequently created clusters if needed. 

C. Users can modify the pre-configured vSphere DRS settings in their own Compute-ResourcePool. 

D. Users can rename child resource pools to better match company policy. 

E. All workload virtual machines are created in the top-level (root) Compute-ResourcePool by default. 

Correct Answer: DE 

 

QUESTION 2

Where would a VMware Cloud on AWS administrator generate an API token? 

A. Organizational Settings 

B. Identity and Access Management 

C. Developer Center 

D. My Account Section 

Correct Answer: D 

 

QUESTION 3

A customer is running a software-defined data center (SDDC) in the US-West-1 region and wants to connect the
workload network segment to their on-premises data center and their company Amazon Virtual Private Cloud (VPC)
running in US-West-1. Which two supported connectivity options can they use to accomplish this? (Choose two.) 

A. One virtual private network (VPN) and one VPC Peering 

B. VMware SD-WAN by VeloCloud 

C. VMware Managed Transit Gateway (VTGW) 

D. Two virtual private networks (VPNs) 

E. VMware HCX 

Correct Answer: BD 

 

QUESTION 4
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What are three benefits of using VMware Cloud on AWS? (Choose three.) 

A. With VMware Cloud on AWS, IT teams can manage their VMware Cloud on AWS resources with familiar VMware
tools. 

B. With VMware Cloud on AWS, IT teams can manage their native AWS resources with familiar VMware tools. 

C. VMware Cloud on AWS supports optimized virtual AWS Elastic Compute Cloud (EC2) instances. 

D. Native VMware workloads can be migrated back and forth between on-premises VMware vSphere environments and
VMware Cloud on AWS. 

E. With VMware Cloud on AWS, VMware and AWS administrators will manage, maintain and update all virtual
machines. 

F. Native AWS services can be consumed over the global AWS backbone with high bandwidth and low latency. 

Correct Answer: ACE 

 

QUESTION 5

Due to a recent acquisition, an architect is being asked to identify and design a cloud-based solution that will assist in
merging several data centers together without incurring undue operational overhead while adhering to a very strict
project timeline. The proposed solution must have the capability to be rapidly recovered in the event of a cloud provider
outage. After careful consideration, the architect determines that VMware Cloud on AWS would be an appropriate
solution, requiring a total of nine hosts for capacity. Which additional configuration options would satisfy the
requirements of this project? 

A. Deploy a VMware Cloud on AWS software-defined data center (SDDC) with a single stand-alone cluster. Deploy a
second stand-alone cluster into the SDDC in a separate region. Configure VMware Cloud Disaster Recovery to replicate
and protect workloads to the second cluster. 

B. Deploy a VMware Cloud on AWS software-defined data center (SDDC) with a single stretched cluster across two
separate availability zones. Configure the cluster to ensure that all virtual machines can be restarted in the second
availability zone with a near zero recovery point objective (RPO) in the event of any environment or system failures. 

C. Deploy a VMware Cloud on AWS software-defined data center (SDDC) with a single stretched cluster across two
separate regions. Configure the cluster to ensure that all virtual machines can be restarted in the second region with a
near zero recovery point objective (RPO) in the event of any environment or system failures. 

D. Deploy a VMware Cloud on AWS software-defined data center (SDDC) with a single stand-alone cluster. Deploy a
second SDDC with a stand-alone cluster into a different AWS region. Configure VMware Cloud Disaster Recovery to
replicate and protect workloads to the second cluster. 

Correct Answer: B 
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